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Which of the following are vector quantities?
@) Density
(il)  Acceleration

(iii) - Energy
(iv) Force .
(A) (Donly - (B) (@) and ()
S (i) and @) (D) (), Gi) and @ii) .
Sip&aRTL QIDDIGT 6TenEU Gsné;urr’r DNeTey? | |
1) s ' ' -
(i)  opBésd
(i)  HPD
(iv) olems -
Ay @uwiEd ' B) @ wHmd (1ii)
©) (@) wpgod v) Oy @), () wpmd (iﬁ)

Match the following and choose the correct answer :
Type ‘ Symbol of the element

(a) Alkali earth metal 1. Rb
(b)  Radioactive element 2. As
(¢) Alkali metal 3. Mg
(d) Metalloid 4. Fr
(2) () (© (d)
A 2 1 4 3
B 1 2 3 4
. O 4 3 2 1
P s 4 1 2

£@&ﬁdﬁrum¢mg) BurmsS sfwrer e emu CTHAs6 :
UDE - gaflogder HITG

(a) amywer 2 Cansd 1. Rb
by sdflwsss gafon 2. As
(c) &y e Gensd 3. Mg
(d o Corad Gumsll 4. Fr
_ (@) (b) (©) (d)
a4 2 1 4 3
®B) 1 2 3 4
) 4 3 2 1
D 3 4 1 2
3 | - PSGS/17

[Turn over



3. Megaloblastic anaemia is due to the deficiency of
(A) Folic acid and vitamin B2
% Folic acid and vitamin Bs
(C)  Ascorbic acid and vitamin Bz
(D) Ascorbic acid and vitamin Be ' _ -

“Quaserdemmeviy s 755 GConensssrar &nusuﬁfn
A)  SCGundlé yllen whpw el Blér 9, Gapur®

B) SCurds sifled wHmw @aul_Liflen 9, genpun
(C) eevammils sifew HRHID eeulLbler 4, geapur®
D) sevsTTds il LHMID @eul.Ltler b, Ganur®d

4. The cytoplasmic connections between adjacent cells through the cell wall pores are known
as ' : '
(A) _ Plasma membranes (B) Endoplasmic reticulum
Plasmodesmata (D) Cellulose .

Qe seurt gananaefien m@u.m& 2085058 QsdsErsE @am_(ﬁu.: aww,r_r,ﬁ@a;@w msl_Gl_nua'rrr&
PeremiiLseT Qeuainm HNMPESLILIGLD
(A) Uermevom seueysen B) aenGLrlemms uama

(O  vemevCur@LevGuol_L.m (D) GsogCamev

5. Fungi are : .
" (A) Chlorophyllous tha].lophytes / Achlorophyllous thallophytes
(C)  Chlorophyllous spermatophytes (D) Achlorophyllous spermatophytes
LHEHNFEET GTETLINA . :
(A)  usemswqpdrer grGoreUl_HaEeT B) wsmswwHY gréoraLIL[HEET

(©) uvémswaer evGQuTLCLrmU_Rsdar (D)  u&mswwopp @uiwGLrerul Hissr

6. ‘B'—cells of Islets of Langerhans secrete '
(A) Glucagon / Insulin
(C) Somatostatin (D) Calcitonin

mQeLav U ertisTGCanarade o drer ‘B'—Osd & Hré@E0D apriGumer

(A) - GEssnsTen B) @eénseden
(©) CorCuCirCGaqem D) srodCLrafan
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7. Sloth Habitat project was launched in this state

ﬁ( Gujarat
- (B) Assam

(C) Jammu and Kashmir

(D) Arunachala Pradesh

“CoHMRTED &l @mgbs&)as.sumzﬂl_ é]ll_i_lb".Qg;lTl_lﬂlailllu.l'_l_ wmblevid

@A) egms

B) Hemd B

(C)  gbap wHmd sregsi
D) smamsolbrCssid

- 8. The Worlld’s first scanning helium microscope is invented in 2016 by |

#) India = N . (®) USsA

M Australia . - (D) German
2016 @b 2 adler apzed abedub afissamCarm L panCammsdulenear &eio‘r@tﬁlxq.ggwm CH
@ @spor - ®) e@uissr | |
©) e ACrellum D) Ggiwef

9. The online pension tracking system launched by the union governmen;c is
ﬂ " Bhavishya | (B) Vishram

(C) Sambhav N ' (D) Disha

BRI ST&T6D leussliuL (Herar ‘@mmlu_lg,m'@u'_@b‘ef,lu_l SL ol Granat
@A) uefagur ®)  eflciyymd
©) sbue - _ - (D) Saegr

B - | 5 | - PSGSN7
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10. Who is the author of the book “Green signals : Ecology, Growth and Democracy in India”?
(A) Jayanthi Natarajan '
(C) Pahlaj Nihalani

Jairam Ramesh
(D) Menakha Gandhi

“Green signals : Ecology, Growth and Democracy in India” erénp prenes erqpflwicuir wim?
A) Gmupd pLyrgen (B) Qguprd yGuwey , . '
©) uapag Hepared D) Cueasr srhS

11. Match the foﬂowing. -

List ' List I

(a) Mohammed bin Nayef 1. President of Sudan

(b) Pedro Cateriano Bellido 2. 8t President of Guyana

(¢) Omar al-Bashir | 3. Prime Minister of Peru

(d) David Granger 4. Crown Prince of Saudi .Arab.ia
@ o © @

@ 1 2 3 4

®B) 2 1 4 3
4’ 3 1 2

® 3 4 2 1

Eipasaim_cubeop QU ESHS :

 utguwa uCiguied 1T

(a) Quralog Ger HuiLs 1. GLnen gardlus

® QuiGhr QagAlwurGenr QuaelGLT 2. swner 61516_&1 L meugl ReHud

(© qwi D ufli 3. Qugy efler GpgLof _

(d) Gl Qsyenapi 4. Qeerd aGmSlquréﬁ\s’m Bereus

@ ® ©

A 1 2 3 4
@ 2. 1 4 3
© 4 3 1 2
D 3 4 2 1
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12. Who is called as the father of Modern Technology?

/0 Nikola Tesla ®) Bill Gates
©) Paul Andrew ' (D) Charles Babbage

pelar QgmAapiL-LsHer gheg ereny epasiuBLet wrr?
(&) HaGsren Auevenr - ®) GéGsia
©) LT &R - D) smiraas GLCLE

13. Match the followmg Llst I with List II. Choose the correct answer. -
| List I | List 11 ‘
Created artificial blood vessel
Developed ten new antibodies to ﬁght cancer

(a) Junjiu Huang

(b) Alexander Khalessi
{¢) Fraser Stoddart

{(d) Peter Kristensen

Editing genes of human embryos -

L

Artificial molecular pump

@ ® © @

@A) 4 3 2 1
® 1 4 3 2
- s 1 4 2
T 2 1 3- 4

g uied I-eyen quuJ'é) [I-g @evengg sflwirer ellen_enw AzfEAZHS.

TS S © ulgwe il
(a) -a’.a@lu.] Goummis 1. Qswpes Qrss ‘r_r,lrsrrm 2 (peurale
(b) a&@a)asamrawmu sQ0f 2. ybnGprenw @muu@&gm ugg Cpmi e udi@ardaienu
_ , 2 (meunddlemmt : ' :
() Qrrevi e m__ ;2 waflg sg@aimuﬁlm WIUGIa uf@gsmr
@) SCii Ol ensen 4.  Qewupens sigFHyemon @l‘,prru';l '
@ ® © @
A 4 3 2 1
® 1 4 3 2
© 3 1 4 2
D 2 1 3 4
B 7 - | PSGS/17
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14. ’ Identify the correctly matched pair(s).
I G.D. Birla Award, 2014 -
II. Gujarmal Modi Awafd, 2015 -

III. Shanti Swarup Bhatnagar Prize, 2015 -

y IandII B)

(C) IHandIII V (D)

Prof. San;~ev Galande

Prof. Mustamir Barma

Dr. Roop Mallik

Tand III

I only

shhwurasl Qurmssiul Herer Gener/Gamanaenar ST s,

L. 8. 1q.. Gireom afl(mg, 2014 -
II.  @ghord Gomg efmg, 2015 -
IIL  &npd eveumpls L amsit 65w, 2015 -

Gugr. sgrgeu sroanGL

Gun. (peigL AT umT

_@pemanauit hLl oaebls

@) I uwpgw II : @) I wpmo III
(€) II wpgo IIT - D ITwlpe
15.  Arrange the following in chronological order :

1. Indian Ocean Tsunami “

IL. Bhuj Eé.rthquake

TI. Kathmandu Earthquake

IV.  Uttarkand Landslide
2 L - ® LIL, 1V, I

(©) IV,LII I ' D) I, 1V, L Il

SpaE@TL_cubenn s Eyo @a)@u an.. auflensiLBdsebd. -

L @bdw Curmd semmul
I ygfoppésd

HI. sngoran® BopHasd
IV. e ggraar’ Hlassiey

@ ILLIV,II . - ®)

I, IL IV, IIT

©) IV,LILIII (D) ILIV,LIII

PSGS/17 | 8



17.

18.

19. -

Ganga Delta is an example of _
(A) Bird’s Foot delta _ ' % Aljcuate delta
(C)  Estuarine delta - (D) Fan shaped delta

shios QLaLTelldn wiamioliL] e1hs AL relar o gmyard

(A)  upeessTd QueoLr (B) el L cueneney QLT

(O) | QumiiEb s QL D) AAH anqer QLo

The most recent Epoch among the fbllowirig is _
(A) Pleistocene ‘ (B) Miocene
W -Holocene ' (D) Eocene

Spsam_euhmer s serernsaTe Lelldsmal Qifley
(A) dderaeGLreles - ' (B)  ewwGuireder
(C) CGaprGemeder . : ' D) QCumalen

The organization in India which has celebrated its platinum jubilee on 26t September 2016
18 : , ‘ ‘ '
&) TIFR ®) BARC

CSIR - , (D) IMD

Qe _ibuit 26, 2016 ey seng) Lieuer eflprellenar Qamamr gl @g@m Hlireurs SOl agi?

(A) TIFR - (B) BARC - .
(©) . CSIR - | (D) IMD | :

Who was the person behind White Revolution?
(A) Menon - M Dr. Verghese Kurian

(C) Swaminathan ' D) T.K. Patel

Qeuarenn Y_§&@ SIreRTLOTGI6UT WiTi? -. '
(A) © Cuoaren - o (B) wLmLir. Qeauirdav @fflwel
(©) sumlipngen _ D) 41.Gs v CLa

9 “ | PSGS/17
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20. Match List I with List I1 :
List I List IT

(&) Rajaram Mohan Roy 1. Sati
(b) Narendra Natha Dutta 2. Swami Vivekananda
(c) Annie Besant 3. Theosophical Society
(d)° Sikkhism 4. Guru Nanak
@ ® © @
7" 2 3 4
- B) 4 3 2 1
€) 3 4 1 2
D 2 1 3 4
utgwe-I e e ulguie-Il g Aurmsss.
wCiguied I uigwed I1

(a) @grggrymbd Gorsengmi 1
(b)  BCibdly 5re s6ST 2
(¢) svallQuaem. 3. (@D @HTes Fu
(d) &&dlw wed 4 GBS

£ L GI&L DL MG
Faum AGaisTabsT

(a) (b) © @

(A) 1 2 3 4
®) 4 3 2 1
(C) 3 4 1 2
D) 2 1 3 4

21.  Charaka and Susruta were prominent
(A) Astronomers
(B) _Mathematicians

M Physicians

(D) Philosophers

FYSST, M@gn Spps
(A)  eumer smevdyiser
B) safg Coamsssr
©) wmsgeutsd
(D) ssseuesTatser

PSGS/17 10



22.

23.

Which one of the following pairs were the main contestants for Prime Mlmstershxp after the

death of Nehru?

 (A)  Morarji Desai and Indira Gandhi
- (B) Indira Gandhi and Kamarajar

M Morarji Desai and Lal Bahadur Sastri
(D) Lal Bahadur Sastri and Indira Gandhi

GeeuFeuTauppeT ahs Qenew, Crmedler | mmmmsgu Goo. ﬂqgmn ugeﬁ]&srra'r W&

Gumiiguirerisens @@pgnmm?

(A)  Qumymigd Gg,srru_r whHmd QBT sTHH

B) @sHrrsrpd WHHD STOITYT

©) Qumnigd Caemi LHMLD MO USSAT arrcmﬁiﬂ
D) o vsgnt sravdfl wHmb ABHTT ETHS

Match the following :
Names
(@) Mahatma Gandhiji
(b) Jawaharlal Nehru
(¢) Dr. Babu Rajendra Prasad ‘
(@ Dr. B.R. Ambedkar

@ ® © @

Aa 1 3 2 4
2 1 4 3
© 1 2 3 4
D 4 2 3 1
silwrer eleLemw Caibos(Hes :
QuuuirsaT '

(@)  wsrgwrsTHEHD

(b) geuapierd G

(¢) vmLmuny @unCiSly Glpsrs -_
(@ vLréLiB.R. @bCGugsmi

(@ () (c) @

@A 1 3 2. 4
® 2 1 4 3 -
(Cy 1 2 3 .4
O 4 2 3 1

i e

L e

Positions
First Prime Minister
Father of Nation
Chairman, Drafting Committee of Constitution
Chairman, Constituent Assembly

ugeilEsar
s Agsw wHS
Gaall Ggm
ueTUL& G(peden gmwajfr

sirflumewniy fiamn seudisn gaeal -

u - PSGS/17
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24.  Which of the following statements related to National Commission for Scheduled Tribeé‘are
false?

L 90t Amendment deals with it.
II. Commission is equal to civil court
II1. President appoihta '_ofﬁcia.lé

IV.  Prime Minister appoints officials.

A I1&UI | ® &IV
Q) T &I | MI&IV

Aemaumeuaneupmen GCadhu LiphiGy uflent gyenammub upiins geipren ah,r_i)rcma;mcﬁ cgﬁm Qelis.
L 90 aug) s L ETflmssd @engls upHlwg
L EléreuranerTiLid @u;mm B8 wernsgEE HaTreng
III.  Eyursgoeai sguisme Goiey Qalieumt

IV. QgL sicmwser sgieersamear Csieay delieumt .

@) &I C® M&IV
© O&II < ®) 1&IV

25. Who was elected unanimously in the presidential election in India in 19777
A) V.V.Giri
®) Gyani Zail Singh
% Neelam Sanjiva Reddy
(D) S.Radhakrishnan ‘

1977- b e peLQupy QbHus Guurs seoaanr Ggigedla Gurn'_lq.ugsiqf)] RB LITHTE. .

CobEs &SI L euIT wimi? ' '
(A ‘ efl.efl. £

(B) Awraf Aguitcedin

(C) Beood s@gsfes Qi

@) erav. @tyrr,srreﬂ@siq,wshr

PSGS/17 | 12 | . B



26.  Match List I with List 11 and select the correct answer using the codes given below the lists.

ListI . ' ' List II
(a) Mandamus . 1. . Bywhat vn;arraht (or) authority |
(b) Habeas Corpixsl 2. . Wé command |
(c) | Quo Warrants | 3. To be cerfiﬁed
(d) Certiorari | 4. Youmay have the body (or) to have the body of

(a) ®»  © @

@A) 2 3 4 1
® 2 4 3 1
© 1 4 2 3

‘ 4 .1 3

utgwd Iever ulgwe Ilg Qurmss, U1 WD EEHES 8(859 2 g qu@mqﬂ@w shwire

eflenLanwg Qzfey Gaiiis.
utguie ] Ul qwe II '_
(a) werTLmOTEL 1 = cBs &‘ﬁanugﬁdv Uiy
(b) gmmﬂu.:cip SfrLIG | 2. | Q,@muﬂi@gé)
(c) &6 sumjaam_ 3. | &ndrmerﬂ{s,sd)
@ é&r’raspyrrm , 4. | | 2L 2 T

@ O © @ @

A 2 3 4.

® 2 4 3 1
© 1 4 2 3
O 2 41 3

13 o PSGS/17
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27. . Who announced the proclamat:lon of Queen Victoria at Allahabad in 1858?

M Lord Canning

Queen Vzctona
() Lord Mayo ' .
- (D) Jhansi Rani Lakshmi Bai

1858 e&CLmfiwr wamymenfl Guﬁ[ﬂé@émm SsTUTEHO SflBiFsg wnT?
@A) srefidGpy -

| ®) ?ﬂa’é@t..mﬁum wamymesntl
(€©) - CuGurdny

D) ' sprend) grewfl oL guSlumi -

. 28.  Arrange the following movements in order :
I.  Khilafat Movement '

I. Civi Dia-oléed.ience Movement

1. | Non-Cooperation Movement

IV.  Quit India Movement

/ LULILIV . ® LILLIV
IV, IL, 1, III ©) ULLIV,I

Gereuqpd @jwe’s&uﬂ:mm RUEFURSSS :
. Qenul Qussd

II. 51;1_. mgoq ,@tu&mb

IIL ggglm;pmrrmm @umw

IV. Gmmmanu@m Qajaﬂcmg BQussd

A LILILIV ®) IL LI IV
(© IV, I 1 HI @) LI IV, II

 PSGS/17 | 14



30.

(@ Royal Rajasthan

- @

Match the following :
Luxury Trains - Promoted by
(a) Palace on wheels

(b) Golden Chariot
(©)  Deccan Odyssey

Indian Railways
' Rajaéthan Government

Karnataka Government

A

- Maharashtra Governmeént

@ ® © @

& 3 2 4 1

By 4 3 2 1

& 2 3 4 1

D) 1 4 3 2

Qurmsss :.

L by Qyuildsdr QGubuB el -

(a) Gumdﬁ.;g,&raﬁd)dn 1. @pﬁu@uu&]w@m
(®) Csrérensmium_ ‘2. @mgevsien S
© OLssren gud 3. 5&;6“1..5"_’;9“};&
\ d) gmud prgevgTen | 4.

| LD@DTTEGLT BiFs

@ ® © @

©

3
®). 4
2
O 1

B

e W
DO vt i et

India recorded the highest growth rate. of National Income durmg
(A)  IFive Year Plan | 7V Five Year Plan
(C) VI Five Year Plan ' (D) VIII Five Year Plan

&@é&n@ub S s sronsadd abs Lo Csw aj@suﬁu] aaied ofsn Na Pswns
Dopss? | | - - -
A) I gpsren® Hliw ' B) V gigrer® HLb

© Vigpgran® S (D) VIII msran® S

15 o PSGS/N7
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31.  Match the following :

States  Projects

(a) Tamil Nadu 1. Periyar
(b) Kerala 2. Kunda _
(¢) Haryana 3. Damodar Valley
(d) West Bengal - 4. . Bhakra-Nangal
@ ®  ©
2 1 4 3
®) 3 4 2 1
© 4 2 1 -3
Dy 2 3 1 4
QumEHs : _
wnfleoiser - Alumser
(@ sOPBIGH 1. Quflwmr
(b) - Cagerr 2.  @baT
(¢} - apflwrenmm 3. snGungi Coudd
(d) G‘mﬁ)@ UBIETETLD 4. L&yT-pRSD
() () (©) (d)
A 2 1 4 3
B 3 - 4 2 1
© 4 2 1 3
DO 2 3 1 4

32. Disguised unemployment implies

A)

©)
)

Technological inefficiency

Zero marginal productivity of labour
Full employment

Unemployment

" wenpps CeumaraumitiSleenio ereug

A
®)

©

(8

PSGS/17
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33..

34.

35.

36.

If 16“‘ February of the year 1993 was Wednesday then what was the 16t February in the
year 19957 ' . :
" (A)  Thursday - ' . (B) Tuesday
W Friday =~ : - (D) Sunday
1993 aumLghed Dgaull 161b prar Lyger élg;mmu.lrr& Qmpsme 1995 %LD uBGLHe Gogeud
16 gy1b preT eremen Hpawwns G (mEESH? . .
(A Awumps e ' ®B) Qsdueumis fpenio
(O Qausefia flpantn ' : (D) @rrdﬁlg &lpanio
A’s new salary after 15% mcrease is ¥ 1932. What is the old salary"
@A) 71600 Y. g T
(© = T1700 - D) T 1660
15% s Bs&ES. tﬂlaﬂA uSesr yHw mﬁu.sw T 1932 arefler A uQehr Lienypws st eretren?
A 1600 . o ' , ®) 1680
(C) T 1700 . (D) T 1660
Find the missing number in the following?
5, 22, 68, 153, 287, —?
&) 385 o 9/480
(C) 530 A (D) - 450
NlHul L arama e ss&sr@xﬁhq_
5, 22, 68, 153, 287, —? _
A 385 _ (B 480
© 530 ~ S (D) 450
A rectangular hall 39 m 10 cm long and 35 m 70 cm broad is to be paved with square tiles.
Find the largest tile wh1ch will exactly fit and the number required.
. A 480 _ (B) 485
(©) 490 S 83
39 15 10 Qs.18 ;ﬁemo whppb 358 70 Qe ssan CaraT . gm AFuaus arge: AMDES ST 9@
GumiL e, ips .g;mgpe;@ Qumpsgmen. uS]es FsLLF g @Hser GraJaJmm Ggenau? '
A 480 : - (B) 485
© 490 | : - (D) 483
17 o - - PSGSN7 -
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37.

38

39.

If @® +b% = 45 and ab =18 find l+%
a

1 | ' 1
/ i'é' _ | (B). ig

©) i% (D) +1

a®+b% =45 wppd ab =18 erefléd —1~+?1)- ETERTS.
. ‘ . o

(A1

@) t-;- - @ t

© £ D 1

The population of a village has a constant growth of 6.25% every year. If its present
population is 82,536 what was the populamon two years ago?

(A) 77681 - (B) 75,634

- % 73,111 | D 76,742

8®. Sgmogden waaear Agrens GGy Syns gd.l@ém@ e 6.25% &q&@&n@@ Gléd)aﬁgpgj
@uQung oger wisa QAgrens 82 536 eraﬂoo @uam@ SATDEEHES - (PO  GTEETANS
BrpHEEED? |

A) 77681 : _ - (B) 75,534

© 73111 _ _ (D) 76,742

A sum of money lent out at simple interest amounts to ¥ 720 after 2 vears and to T 1020
after a further period of 5 years. Find the interest rate %

(A) : (B) 9%

/ 10% , | O 11%

e GHUYLL ey 2 yarhiseaiad T 720 gead 15];9@ @wg;m 9@ 5 yeam@Bsefier T 1020

'- S THEADE) eTeNar DiFeT eullg. Sssmss STRTE. (euligenws sefl euiig arem Ga.rram)

A) 8% - ® %
© 10% D) 1%

PSGS/17 | 18 - | - B



40.

41.

42,

43.

The average of 5 nos. is 120. Later it was found that instead of entering correct value 15,

data is wrongly entered as 5. Find the new correct average
Ay 120 B B 125

© 126 | - P

5 eransefien siaf 120 @ Gemani Qaupdler e erewr 15 erenp sfwrer wdliwu ALG 5 ererp
geupren wHuuns Bz srrefl sansdlL g Apfiw absg. yfw sfwren sgraf cremen?

(A 120 \ (B) 125

€ 126 . : B ®») 122

" If 20 men can build a wall' 112 meters long m 6 days, what length of a similar wall can be -

built by 25 men in 3 days? _
A) 56meters 8”70 meters o

<€y 45 meters ' R (D) 60 meters -

20 gy a6 6 prisefle 112 B ;Barq,pmcrr &mmry &l_lq. q.pwrra) 25 yC.ger 3 prn_.a;aﬂa) STEueUETEY

or& souanr SLig Q,oq.uurr?
(A 568 , B) 708l

(C) 458 , . D) 60 S

The mode of the observations

2,3,7,84,24,3,9,274is |

@ 2 ™ 'Y
o ™ 7

€ 4

2.3,7.8,4,2,4,3,9, 2,17, 4 aénp Lol ALrEAsTEG 96 (&G (mode) —————— L.

@ 2 B ®) 2,4
© 4 o ® 7

A wheel makes 48 revolutions in 3 seconds How many revolutmns does it make in
30 seconds?

(Ay 400 - B) 420

) 440 o pf4so,

U] mumm@ 3 iprigsafies 48 apmadt sHHADS aq(‘:’@ g&smD 30 ehlpmgsafied crggsnm apenp
SHMID? : _ '
&) 400 : S ® 420

(C) 440 (D)} 480

19 ) - PSGSN7
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44. The function of AC dynamo is _
M to convert mechanical energy into electrical energy
‘(B) to convert light energy into electrical energy
(C)  to convert electrical energy into mechanical energy

(D)  to convert electrical energy into light energy

& AC Wenaflwphluder Cauenan

@) Quisy ppee deranppens orppeis
B) gl gppme Aaamppens wrHes

©  Beramppeme Guisy eppers vrppes
D) Heramppere el G HpoTE wIHHGE

45.  The period of a geostationary artificial satellite of the earth is
(A) Zero ' - (BY 12 hours
W 24 hours * (D) 48 hours

el fleneow QswpenasGamer Lyeflenus gap @@ sHm &HH euy THSHE Aaremenid Crybd
(A)  yhubd . , B) 12 weliGpyd
(©) 24 werfiCry | @) 48 weNCrywd

46.  Why does the sky appear blue in colour?
(A) Interference of light

M Scattering of light
(C)  Diffraction of light
(D)  Polarisation of light

aumand B HpsHer Garenps smyerd ur@?
(A) gl Enss 6 efilenaray

B) aféfspe

€) @aft flafiiby eflenamey

D)  qefl geaeilenerey

A
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® |
~ 47.  Which of the following has elasticity ne#rly equal to 1? |
_ (A)  Steel (B) Copper
M ‘Rubber . (D) Aluminium

BipssarLaupmer agar sifs BUSssaenn gpéganu 1 26 BHEELD
(A) eved . ®B) 5rru$lmn
©) pour . ' (D)) algzuﬁlaﬂu_J_Lb '

48.  The oxidation state of an element in the free and uncombined state is

@a -1 ) B +1
A o - ® -2
gaﬂggs wimb Geupy cr,s@m.@uo G&qrrma) @@&@w (Burrgﬂ gsaﬁmgﬁm c%sélg@mm,rp GresT
YE. -
@ -1 B) +1

©C o . D)y -2

49. Water gasis
- a mixture of CO and H,- (B) a mixture of steam and air

| (C) amixture of CO and N, (D) a mixture of CO, and N, -

- B eumuy ereLIg . . _ _
(A) COuwpgwe H, Caips am svmeu B) Brrellud, srpgib Coihs G Swma
(C) COwppd N, Coiipg @@ swmal D) 'Coz whmpb N, Csips @ someu

50.- The citric acid produced durmg Kreb cycle contains
‘ (A) Two carboxylic groups _ Three carboxyhc groups
(C). Four carboxylic groups _ (D) One carboxyhc group

Sy sypHHude e PuSHLITEGLD ARG Sif@rag Qareri HUug
Q)  Quen® sriunsddls AgrEHadr - B) epeny sriurgdalE QprEHaer
©) prag sriun&fldls Opradadr D) o sriursddls Osn@d

B o o 21 - PSGS/17
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'51.  Which bacteria cause Enteric fever in man? , |
Salmonella : (B) Cornybacterium diphtheriae
(C) Bordetella Pertusis - D Treponema Pallidium '

GLDETEDS L HEUTEGLD Linde L eios eTgI? :
(A) sr@werder o B) snireiCuELNwb giSACW
©) urQLl QLo QuirBeiiav - (D) gAuGunfor Guelipww

52. Idiogram refersto
(A) Diagrammatic representation of genes _
Diagrammatic representation of chromosomes
(C)  Electroencephalogram '
(D)  Electro cardiogram

@i Guirdlyrd erepred

A) gBensener GhlaEL uLD

(B) @thn@mn@ombsméré GREEWL UL
(C) s GrraartsuGonélgmb

(D) ereaGyr aming Gurdlymbd

53.  Which country won the Euro Cup 2016 title?
' Portugal _ - (B France
(C) © India _ ' (D) Italy

wp G &0 2016—-g Geuenp kR ?

(A)'. GuniTéss : ' - ®  Qgrenev
© @spor © @

54. In which place did the Prime Minister Narendra Modi launch the “Swachh Bharat

Abhiyan”? _
Assighat (B) Jantar Mantar
(C) Rajpath | (D) Rajghat ‘

Spgioi pCrEHy Gomg. “gmienw QHHur snSlwimes” @l'_l_g’;dugs i@ Qe eeugsi?
(A) aeiua’_&enm.’. : _ B) ghsTLHHT
©) yrgung ' (D) grgerl

PSGS/17 | 22 | B
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55. The Author of the famous book ‘The making of India : The untold story of British
Enterpnse 18 ' : g

(B)

€

O

Mr. Kartar Lalvani
Mr. Kailash Satyarthi -
Mr. Sujatha

Mr. Lama

s

“The makmg of India : The untold story of British Enterprise’ cram) UsBEEOS cr@@u_:eun

4)
®
©

)]

DYGUT.
Q@. ST eI
S(m. enaandy spLSh
Q@. SRNET

- S, omom

56. The number of countries signed the Paris climate agreement as on 22 April 2016 is .

G

' 140 ' | - B) 110

&7 s S @ 190.

22 grluyéd 2016 euenyy umﬂem Omuu;ﬂa)m @uupggﬁm m&@w@ﬁﬁu_ mn@&aﬂw aanaflEms

@
©

140 ‘ ®) 110
175 - (D) 19

57. The Flrst Woman Champerson of the State Bank of India is
M Arundhati Bhattacharya :

®)
©
®)

Chanda Kochhar
Kiran Mazumda;'Shaw
Shobana Bhartia

ungg evGLL. euiflulien apgd Guen geneeult

7N
®)
©
®)

Si(HHSH LI L aFFmIIT
sham Qanési

Syert DS Qg -
Cagrenm umirgSwr

23 | - PSGSN7
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58. Assoc:ate correctly the following Indian sports persons with their sports

_ (a) Abhlshek Verma L Snooker
(b) _ Pankaj Advani 2. Boxing
(¢ Pinki Jangra 3. ' Tennis
(d) Sania Mirza 4. Archery
(A a2 b4;c-1;d-3 o y a—4; b-1; c~2; d-3
©) a2 b4; -3 d-1 D) a-1;b4;c-2;d-3

Qewaumpd BBHw eflenerun’ B efyiseer Steuis@smL L aﬁlansnu.lrrLGur@ &lﬂu)rr&;§ Glgsm_m_;u@ggja;.'

_ () =1 9Qags curiom 1. CuenssCared u BSTL_L LD
(b) uensly oGeuraf 2.  (BH5& samenL
(©) Dend gmandlyr 8.  Quenaflev
(d) sreflur Bievs 4. dladsmg
{(A) a—2;b-4;c~1;d-3 S (BY a—4;b-1;¢-2;,d-3

(C) a-=2; bH4;c-3;d-1 ’ (D) a-1; b—4;c-2; d-3

59.  The city having odd-even scheme to reduce pollution is

(A) Kolkatta , & Delhi

(C©) Mumbai ' (D) Pune

OT&U Gsowe GonsEL Aurmr G ehen- ol e L 1b o _érer pETD 24ED.
(A) Qareasgst (B) Qe

©) oeu , D) yGCer '

60.  International dance day is observed on

(A) Mayl | B) April 30
(©) May2 | - 4 April 29
| FirauGas B4 Hrar . sieny sl By SsLBHDg!
(&) CGwl B)  atid 30

(C) Guw? @) qLigé 29

PSGS/17 | - 24



61.

- 62.

63.

The only one Indian Test Cricket Captain, who scored double century outside India is
(A) . M.S. Dhoni _ ' (B) . Mohammad Azharuddin
(© ViratKohi -~ . (D) Pataudi |

DIWIDBTL Ig 6D, Gt_emr_ Q"sm_tﬂso Qrien &g G @Gl} S0 @pﬁm Gl_eml__ G&LII_GT

, — <SG,
A). MsS. Ggrraﬂ B gang serpde
M Ay Caredl ' ' D) u GLmg

Identify the correctly matched pair(s).

L Asian Games, 2018 ' —' Jakarta and Palembang
. Commonwealth Games, 2018 - Gold_'Coast '
IIl. Olympic Games, 2020 ~ — 'Lausanne.
ﬁ/ Tand only o () T'and I only
IT and I only - : (D) Ilonly -

tS]dT@@mafmgbpﬁiaSl@;b@. FflwursLi QAurmssLIuL_Derer Gene (1) Benamscner ST,

I.  fu aSla)srranL@. 2018 = gUSRET LHHID LTBLITE
CIL 0 smosrQeudp sfearun’ 2018 - Gandrl Gapnev® pa
M. gdlibds eeeanun @, 2020 - onGear
@ TopgsTMoigd C® Twp@sd II oG
(€ IIwpgb I wd Gib. - . (D) I o

The “Integrated Women Safety Mobile Application” launched by the Umon Mxmster '
Rajnath Smgh is :

(A) Mahila . . | ” 'Himmaf
(©) Madath . (D Rakshak

Loggﬁu.l wpHR Haw. @mrgmrrg Sy DQuTHSTTED G]uaar&.aﬁsul ung&rruqa@&wg] Ggm..m@ eneuSSEIULL
@&UGUE Lwarurl e duwit eraren?

@) waRer @B aflbws

©  wunp L O ks

25 PSGSN7
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64. Pick out the incorrect statement from the following.
(A) The laterite soils are developed mainly in the highlands of the. tropics
(B) ° The regur soils are rich in iron, but deficient in nitrogen -
y The top layer of red soil is red in colour, but the horizon below is black in colour
) The alluvial soil can be classified into khadar and bhangar soil

&Gy QsrRssULL Perarancuaaiier peupran aunadlusens CsipAsEsad.
(A)  CoiLerl war swear wamn wgddr o wiflol ugdsiio Carandaps
B) fsi wenelld GELLE sHE HPEOTE STRTUILGL, YD ®BLIRET &g,gj @wmeu m&

| Bosew
€) Qevuerefidn Cud SREE Haiy fipgder sreriu@o, penTed @gen &p BEG SHLUY

- Pogdé sremruuBo
D) a6 TR FNGT HIID UTBIST aTe @qazr@ aasens GNéEsombd

.66.  The index which has not been used in Thornthwaite climatic classification is

(A) Moisture Index : (B) Humidity Index
Vegetation Index (D) Aridity Index

FrangIeuLig.er STRH@® USESIUT g LLSUBSSLLLIS GHETL .

A wraghsarniyg - (B) mgd LgE GDEm .

© grarsghsny D) ap & Ghsmny

66. Choose the statements which are incorrect among the following :
(@ 233 °N latitude is Tropic of Cancer
b 66% °s latitﬁde is T_roi:ic of Capricorn
© 231 °S latitude is Antarctic Circle
@  0° longitude is Prime Meridian
(A) (a)and (b) (B (@and ()
© @and@ @7 () and (©)
&Gy Qar@asiiul_Gararmasaid saprer aursduismer Gpia) Qsiss.
@ 231 °a ois Crens -~ 58 Cras
by 661 °Q§ 3|_& Cgena ~ sy Crens
(c) 231 °Q§ SIE Gyens - SHELMTiq.& "L LD
(d) 0° §rés Grens — apgeneno §iéa Crens
@ @ wpgn®) B) (@ wppid ©
©) (a)wppw (d) . D) (b} wpgw ()

PSGS/17 26 | 8



67.

68.

69.

What are the characteristic features of a prokaryomc cell?

@A)
®)

Mitosis and 80 S ribosomes
Membrane bounded organelle and incipient nucleus -

% Incipient nucleus and amitosis

D)

®
©
o)

Of the foliowmg, who was the last Chinese pilgrim who visited India?

@A)

Mesosomes and 80 S nbosomes

- YGynGaflwm’ iy & Qsdelier smemrLiuBid LidhTLjser wireneu?
Y

anw_Lrélev wpmid 80 S agCunGembd

ss;ﬁsqe;mrrd) Glul L ek o iy, QUGTIFE LTS 2 5(T
cueTT&E] BTG 2 L& whoLd genwL_L_mélev

BCsrGenb whHmw 80 S arGurGsmb

Fahien _ (B) Hiuen-T-sang

V I-tsing - ' (D) Taongan

&@&umum@m @m@un& o) m@u.ursﬁlg)@ QUHEDS quﬂgb,s Eam wingfam wmi?

@A)

©

urgublwmas : : (B  weumen seummis

.@I'_éﬂrél - D) LmuGsremen g

Name the Indian King who was compared with Napoleon

A)

©
)

Chandragupta
Samudragupta
C}iandragubta I
Chandragupta I

RoHwrellen eTHG T Gl,r_r,uGurraS]uJ@gL.sa QuﬁLuu(Beﬂ;prrn'?

A)
B)
©)
D)

ehSrSIST
FPHATGUIST
s@,ﬂq@ugn 1

eyl Il

27
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70.  Arrange properly the following stages in an individual life.
Sanyasi

" Grihasta
Brahmachari
Vanaprastha

33 2’ 4’ 1 . (B) 2: 1’ 4, 3
3,4,1,2 D 21,34

‘.ﬁ-.wsor-

g

_ weflg mr@sﬂeh Hoasener gz.@r&@u hsgE.

1.  spfluned o | ' , . ' »
2 Sysevgbd ' ' '

3. WgbwEsrfwwn

4 aumamdyevsid

A 3,241 B 2,1,43

© 3412 . ®) 21,34

71.  Identify the ﬁrst woman freedom fighter of Tamilnadu, who was mpnsoned for one year for
participating in the Salt Satyagraha

Rukmani Lakshmipathi Ry (B) Capt. Lakshmi
(C) Dr. Muthulakshmi Reddy (D) Nagammaiyar

slpEsH® 2.l sgﬁmnﬁugﬂ)u Cumym__sHié FRULLFHENE @i gneold flenp eflflEEL’ B,
@sg AeunucL apssd Auear ell@gmel GurrmiL i Queamoesflenw DIMHLITGTLD STeRT.

A) @sved wlsfLg . (B) Gauien QL8
(©) sl pégmQarss Quiy (D) prsbewwri

72. Seventh schedule of Indian Constitution cohsiats of
(A) Languages recognized (B) Tribal areas
y Distribution of powers (D) Salaries and emoluments

@By ipdd srsen s sHen q@nmg S L suement QaEmeiTiq.pLILIG)

A)  andsfssiiucL Qumfsdr : B) uvyhiEyWerT &Lbup'spaul'_l__
©  sfaryLiéR ' (D) sbuemiser LHHID ahHouTWHLIkET
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" 73. In India Public Order is i_x;t_:luded in the constitution as an item in
(A) Union List

| - y State List

(C) Concurrent List
(D)  Both Union and State List

Gung &t_@qur@ THS uu:;.waﬂa) esrrwuu@eﬁg)g;? 4 ‘
) wiHu srEThE uuq_um) . _ , , R
®) uarr;f,]a) SITETEIS LI Iq WI6)- . | ' o . ' .

(© Qurgluilgud . : ' : \ o \

D)  wsHw wHLD WTHle BIFFTRES LG WeEaT

74. . Which one of the followmg Artlcles provides for early Chlldhood care and Educatmn for all
- children until they complete the age of six years"

o Ariclets ' O ®) Article—44
(©)  Article—43 o @) Article—41

Gerau(sLd SigFmbUIL HHacled aps Genm <o IS, @ggpmgsasm DIDLUYD QU B CUTHEHHG
seuafliyw, soefluywb aqaﬂsses(?wm@m T SaQEmgI?

(A)  spemwly efld 45 ' (B) aumu:uu @95\ 44
(C)  speewly eQH 43 B D) aummug a9 41

75. How many seats does the union territory of Andaman and Nicobar islands have in -
Lok Sabha?

(A)  2seats : ' _ (B) 3 seats.

' M 1 seat ’ : .(D) 4 seats

Caors sureiled BibgLoner AEGamLMT weflwer ACsss8hE aspeman &gutn@e&rr’r @) _fuser o_dreran?
@) 2@ diiser | (B) 3@Lruser ‘
) 1@uw ' o _ (D) 4@ huser

B _ 29 o : | PSGS/17
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76.  Which one of the followmg Articles says that Kolkatta High Court exercises jurisdiction
over the Andaman and Nicobar islands?

(A) 240 B) 239

W 241 - ® 242

@wm@m Sl fadie abs gy SLEEST awmﬁ@mmmm apgmnm BaGarumt §aqasctﬂa1
Lﬁgj Beaurblud HFsTTD LS55 eTais smpéng?

Ay 240 - - ®B) 239

(¢ 241 (D) 242

77.  What is the Quorum in both the Houses of Parliament to transact business?
@7 55in Lok Sabha and 25 in Rajya Sabha -
(B) 60 in Lok Sabha and 30 in Rajya Sabha
(C) 70 in Lok Sabha and 35 in Rajya Sabha
(D) 125 in Lok Sabha and 75 in Rajya Sabha

unqﬁ@mdrmg’,,ﬂdr FreaIsEED AeuduL GappsuLs 2 grifent creraflbma eTerner?
(&) 55 &peveu a@ﬁ@mr’r&e‘n wHpb 25 Cueamea &QIL'JIQGOTI"I‘&dT.
B) 60 &pea o glulariadr LHmD 30 Guawa 2 plSeriaer
(C) 70 e 2 pidaniser woHod 35 Gueeney 9.@]11115]66"’!856’”‘
@) 125 dyees 2 pulGaniser wppubd 75 Gmme.aeu 2 pUderiger

78.  Which of the following items come under the concurrent list of Indian Constitution?
(A) Inter-State rivers '
. y Forests
(C) Citizenship ,
(D) Local Self Government

 Aeraumauaaupmier @bSu eirflueebly Aurgiuligwisd Gméssomg U gieon
(A wnflebsEpsdaGurer Qg maay '
B) sr@aer .

©  eyuflen
(D)  sw (=) edrarm_& SIS EIGET

PSGST | 30 e B



79.

- ® 1

80.

Ma_téh A with B and choose correct answer from the codes given below :
A : . B

(a) Youhg Bengal Movement (1826-31) - Sayyid Ahmad
() Wahabi Movement Gopala Krishna Gokhale
{¢) Ramakrishna Mission Louis Vivian Derozio

(d) The servants of India Society

ol

Swami Vivekananda

@ ® O . @

1 4 2

- 2 3 4

€ 2 1 3 4
2 3 1

D) 4

Aap_er B Qurmss, ECp Qan@ésiu’ Hérer gdluiGaaidipneg sfiurer slem_sow Gaiay qu’.p: ‘
A ‘ B L '
(@) @emb umsrer Guissb (1826-31)

1.  @swg Ii&swg
(b)) wanmd Quissd 2. Gamune Smeigan CarsGe
'(c)’ Qrmodmegent QuISSED B omnd eﬁlaﬁlu_lsirr GUW&Gum
(d @i Coareuwimemt eréna;yb‘ 4. samf fGusranbgi

@ ® ©@ @

(A 3 1 4 2
B) 1 2 3 4
© 2 1 3 4
D) 4 2 3 1

By which name did Ramanuja call the Sudras, who were coﬁverted into Vaishnavism and
taught them the holy mantra, ‘Namo Narayana'?

(A) AdiDravidas - o ' Thirukulathor

(C) Dalits -~ S ' (D) Harijan .

@ rmorgngpit @,ﬁsgm‘r&@é@; ‘BGor prymuet’ wHSsmss SHNECETRSS. HEUTEDET WG |
swWLSHHE LIHOD Geigl SauTsmer Gereumid eTbs QUWTTD SiDPSSHMT?

A 24 @weﬁ\n..'fmdr ' B) JFHwmagensCami

(C) plsgser . - D) enfigen
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81. The Treaty of Bassein was signed between the British and whom?

&)

Viswanath . ' ' ' .-

& Bsji Rao D . | .

(©)
D)

Balaji Rao
Sindhia

‘Lenger @UUIBSD CawisErs@h wiksEGWa Cw uubgreg?

)
®
- ©

@)

eSlavaumTs

umgd gmeu

“ureorgll pmeu

Apgwr

82.  Which is the correct statements about the results of “Vaikom Struggle of EVR’?

L.
IL.

III.
v,
A)
©

EVR was known as Vaikom Hero'.

The untouchables were allowed to enter the Vaikom Mahadevar temple and Worship
God. : ' '

The untouchables were allowed to use street around the Vaikom Mahadevar Temple.
Vaikom struggle was organized by a particular sections of people.

I and II A land 1l

II and III (D) IandIV

rr. @eu. i allen eneussid Gumrmd L_gsme ghul L lass eflunar cflenateyser ereneu?

L
II.

IL

IvV.

GY
(€)

PSGS/17

Qe g ‘aeusasid eifi’ eranmenpaLILiL L.
Samppangauiser  massd werGget Garddle Qsam afur®  Gsdw
Si@SHEEOLLL . -

San_ggangeuisdt mausshd werGsair Csmbmas spflydar SHsEmses Osdw

DA ESOILI L e,

encu&sd GurrLLLD g &leo tﬁrﬂeﬁimjnd) 'r_r;l_ggsugL'.L,g].

L opgio II ®) 1 opp II
IT womw IIT D) Iwpmb IV
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83.

84.

85.

The aim of Annapurna scheme is
M Providing food security for senior citizens
(B) Providing food Secﬁrity for children

(C) Providing food security for women -

(D) Providing food security for pregnant women -

sienayent S sHler Ghrésd -

(A)  Wwss GYEEERHEG 2-Te U STy CUIDEIG S

B EphessErse e-are ugsiL Seliug)

(C)  QuatsEpés 2-amoy LUTGETOY eflliug
D) s@abDY QLETHEEEE 2 awTa) UTHETUY m@@@g@

Bharat Nirman Programme aims

(A) to provide educational facilities to rural people
y to ﬁrovide basic amenities to rural people ‘
(C) to provide employment opportunities to rural people
(D)  toprovide health facilitjés to rural people

“unyg Hiromer S s Crréstd

(A) Ay wEsEnsE swel el Qsiig oS
(B)  Hymo LEEEHES SigLIUGL s Qaig HHuS
(O zﬂunm_mésas@&@ Geuene eumiiy eusd Qelg smeng

D)  Apmwo wasEnsE seTHTY cuad Aalg QarBrug

The per capita income in India in 186768 was first ascertained by
(A) M.G. Ranade _ (B) W.Hunter
(©) R.C.Dutt ~ @ Dadabhai Naoroji

. @ifuneiler 1867686 geflpu euwonemd Lpdl apseiled prmispgeurt wami?

(A) MG grenCGi. . B) W.epdni
(G0 R.C.s5 (D) grerumi QparGrag)
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86.  Which of the ;tatements given below is/are the features of New Policy?
1. Reform in trade policy. '
2. Reduction in fiscal deficit.
3. To promote Industrial development.
4. Exchange rate.

Mundz o "~ (®) 1,2and3

(C) 3and4 | (D) 2, 3and4

Epaem_aupmiet eThs s gy S QurgertgTy Aaratemsw e Amirureang?
1. auafls QsTarensen WTHH HDLOFHD. o
2. HEHU LDPTEGODBL GDHDSHD.

- 3. QgmPer gienperws QUmESSD

4. wrhHmeignd
(&) 1uwpped 2 ®) 1,2w0pgo3
(C) 3wpmw 4 ‘ ®») 2,‘3 wpgpb 4

87. A works twice as fast as B. If B can complete a work in 12 day‘s independehtly, the number
of days in which A and B can together finish the work is .

M 4 days (B) 6 days
(C) 8days . (D) 18 days

A, B -g L 2 wLig Caswors Gume Gsaudpr. B-gd em Camaau §aﬂu.|rr5 WPlg58
. 12 polaar q%amco A wimpib B @meumbd Goig Sips Caumeau gpiubs CeaaiuBw ;5m_55rr

A 4 priser _ ’ B 6 Jr,rn_ﬂsm
©) 8priaer : (D) 18 priser

88. Ram walks 12 kilometer to the north then 10 km east and then 12 km south. How far is he
from the starting point?

(A) 9km : - 13 km
(C) 8km y 10 km

b 12 818 auL&sns mLbs Genart 10 £if Sipssnsab whmb 12 Sif Appansa|bd BLHSTED, Sieuen A
Qgm_sssHSmba SLALNE DHEGED @b aeieuaTey GIFD?
A 94 B 1348
(Cy 84&sb , D) 1048
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- 89.

90.

91.

92.

The volume of a sphér.e-shaped shot-put is 310.464 cu.cm, then the radius is
4.2 . o ' "(B) 4.8
(C) 64 - S Dy 84 -

TN (Ses'srms'uu'}m Sewmio o Geora erdl @eriq.ein et Siemay 310.464 arafiéd a{,sén ST
@ 42 ‘ S ® 48 |

© 64 D) 8.4

In an alphabetical sequence, if ‘EFGH’ is related to 'VUTS’ then BCD is related to
7w S ® YXU |

© xw (D) PON

ymdle awssissd  aflesdad EFGH, ‘VUTS’;]')@ sbopsiuc L srs Qmbsrd. BCD'HG

EpERTL 61g) FDHSLONS QMHEGLD S '

(A) YXW S B) YXU

© ZYW ' ®) PON

Identify the wrong number in the followi:ng number sequence
5, 6, 14, 40, 105, 230, 446 ' '
@ 230 . ~ (B) 105

" ' - | . D 448

Qan@ésinlHenear erar auflensude 56}.1;13‘&@1 cTaRTen T H&T (Mg S5 a@g.jas.
5, 6, 14, 40, 105, 230, 446 p
A 230 , B 105

€y 40 ' (D) 448

In three coloured boxes-red, green and blue, totally 108 ba.lls. are placed. There are twice as

many balls in the green and red boxes combined as there are in blue box and twice as many -

in the blue box as there are in the red box. How many balls are there in the green box?
(A) 18 S B) 36 '

©) 45 L s

. Qurggn 108 upgseT Heutiy, LFes wWHmD fo Hp LOUTEsD @aussILLLE. U&emE LDHEILD

Hautsy LUunssafled e@aussiul L ubgsaidar Qorss aamrasdsms o Hip Luisreild meussliurL
upgiseiar aarafismsis Q@ WLLEEGD. B Lliumed eeudsuulL upgissailan aarafisms
Aeutiy LUumeliér eeusstiL L Slar @ LG aTaid LFms Luuredier eneudsiuil s Lbgsatien
eregmanllEena creueueTa)? e ' '

(A) 18 : By 36

C 45 : ®) 54
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93. The area of the rhombus whose diagonals are 20 cm, 12 cm IS

P 120 em? . (B) 200 cm?
(C) 400 cm? (D)_ 600 cm?

Q@6 STl sgITSHen papanewedl L iaTayse 20 Qs.8, 12 Q5.8 aafler siggienw uptuemey
(A)  120Qs.18° o (B) 200 Qe
(©) 400Qs.8° (D) 600 Qs.15°

94. Astudent got twice as many sums wrong as he got rlght If he attempted 48 sums in all how
many did he solve wrongly? ' :

@A) 16 _ B 24

| 32 | D) 30 R
& 2 __

P wremaue gaQanm sfumar £rrsues@w Bm seupren &rmsm Hon_sfpg). siaren 48
| EREGEET (P ,lpé]ggm) gaupner £rreqa;err TEG@Me?

@A) 16 - ®B) 24
(C) 32 . D) 30

95, The LCM ofl%, 12, 2—;—‘is

3
A 2 | ® 3 ‘
© 4 | B T
'll, 1E |.c>,ri)gub.2l aflein f.Quim.1o cremen?
4 3 2 _ .
A 2 - ® 3
5

€ 4 - | ()

96. nghest common factor of 90, 150 225 is

15 : {B) 30
»

€ 25" - Dy 20
90, 150, 225 @eeuaatien tSLQLI Qung sTrenf

A 15 | (B) 30
© 25 - Oy 20
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97.

98.

99.

100.

Arun deposited T 4,000 in a bank for 3 years at an interest 15% per annum. What is the
compound interest that Arun will get after 3 years?

(A) 1083.50 . : 2083.50

- (C)  2183.50 D) 2483.50

Di(mewr ererueu T 4,000 ggAga([r; aBdlle 3 g amBEs, .Gu@L.gﬁ;b@ 15% auliguiier paes(® Qadignir.
SLLeTSHDE 3 YATHES DG ol B 6wty eTéucuane flan_&@D?

(A)  1083.50 - ®B)- 2083.50

(C) 2183.50 (D) 2483.50

If A is older than B, C is older than B but younger than A. D is younger than E and B. B is
older than E. Then identify who is youngest?

A A (B) B

© c | WD

B aw & A apdseur, C eremueuic B eow el @%wunawm A eneu el @mmu.:mf,rrrasmm
D aégnuaiit E wpmd B eow efl Genemusupraeys, B eraueuir E—ew 68 @gga.lmraseqm 2 enarei.
erasficd @b lseyid @mmu_leun wimri?

A A - . | (B) B
© C ' - ® D

Ram sold a watch at T 405 and earned a proﬁt of 20%. What was his cost pnce"

& 33750 | (B) T 87.50

(C) - ¥237.50 D) - T 237

prd eremueut 20% @rusEbE 5. 405-4@ @@ suaTTEmS lPDTH SiFET SILbs eilene eTaern?
(A) ¥ 337.50 . B ¥87.50

(C) ¥ 237.50 ' D) ¥ 237

If SOLAR is coded as WSPEV then LUNAR is decoded as

(A) PXREV

@ PYREV'

(C)y PXQEV

(D) PYCEV

SOLAR eraueng WSPEV GTGUI@]LD @,r{)luﬁL_ura) @Mssre LUNAR eremug) eréueummp @gﬁl&asuu@w?
() PXREV

(B) PYREV

(C)  PXQEV

(D)  PYCEV
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Read the following instructions caréfully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 10 minutes before commencement of the
examination.

This Question Booklet contfins 100 questions. Prior to attempting to answer the cand1dates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are. more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. -

In the Answer Sheet there are four circles (&), ®), © and (D) against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one responge for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Quest.mn Booklet and the Answer Sheet out of the Exammatmn Hal] dunng the exammatmn'

The sheet before the last page of t.he Questlon Booklet can be used for Rough Work.
In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




